XFHDEHEFE (FBOEEN)

x+2 _ x—3
3 4

4(x+2)—3(x-3)
12

4x+8—3x+9

DOES
@1 20X TRR

QA EEATHE (HSITEE)

12
_ 4x—3xT:+9 @RIBEEDE
_ x+1172 ORREIZIEZDITS
= 1, 4+ Z

12 1

2. %(4 a—9)—%(3 a—4)

_1(4a—9) 1(3a—4)
N 6 2
_(42a—9)-3 (B3a—4)

6

_4a-9-9a+12
6

_4a-9a-9+12

XTOESICERTHE, 1.

D&%

@1 20X TERE

@y EERTHE (HFEEXE)
@RBEEDHE

ORRIZEESTS

ERCLC



3. TDf=
(1) XFARKDEE

RIEER L. EHIHER LT THEER

(a+7) — (5a—3)

—a—5a+7+3
=—4a+10

(2) HEEE

2 (x+3) —3 (2x—1)

=2x+6—6 x+3

=2x—6x+6+3

=—4 x+9

(3) HRITE > BRITEE

94+ 1xaxbxaxa

3
=94+a b
(4) BRE

7 2.3

10 XY X
7 2 5
~30 XY X 3 x
_7,2,.1
—2 Y X3

2

XKFFITER

x : EEEES



(5) M7 dD LA

(24x+36)+§

=(24x+36)x% XH99>

BHEIXIRAPHNALTENITOK
BLEFTARTHHUATENITOK
= (6x+9) X3
=18x+27



